


Entity 1

Related

Entity 2

Related Entity 5

Entity 4

Available Option
Available options for the relationship entity indki
* Relationship
* Relation
* Related
* Any relation name
» Difference

e Similarity

e Comparison, compare etc.
» Attached

 Etc.

While the relationship entity can be used for congom, nevertheless it is important to
know that comparison of entities take understandinge principle to a higher level.

The way to look at it, since in order to compare emtities both of them must be well
understood; in this case we simply increase ouerstdnding of those entities. Since the
understanding of communication depends on the ipfeniself, all that we do during the
process is increasing our understanding of thecimie. In term of comparison, the
diagram below shows an example. Assume that ehigythe comparison of entity 1 and
entity 2.
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Entity 1

Compare Entity 3

Entity 2

In term of relationship, the first diagram abovewh thatentity 1 is related tentity 3
andentity 2 is related teentity 3. By using the relationship arrow, we can reprefigsim
as shown by the two diagrams below.

is related to

Entity 1 > Entity 3

is related to

Entity 2 g Entity 3

We can use curl braces to annotate the relatiomstiify. By using curl braces, we can
annotate some of the diagrams above in the forowbeThe first diagram below
assumes thantity 1 andentity 2 are related, while the second one assume®ihat 1
andentity 2 are comparable.

Entity 1 Entity 1
and = are @ and = are @ by Entity 3
Entity 2 Entity 2
Entity 1 Entity 1
and = are @ and = are @ by Entity 3
Entity 2 Entity 2
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The relationship entity above can also be used adtached entity to show an entity that
is attached to another entity. Assume thatty 1 is attached t&ntity 2 by Entity 3, then
we can use the relationship entity with the attaation to show that. In this case, the
relationship entity is used as Attached entity as shown below.

Entity 1

Attached Entity 3

Entity 2

Since we use the principle entity to validate otbr&lities, the relationship entity can be
used in conjunction with the principle entity tashthe relationship between that entity
and the principle entity as shown by the diagratovbe Assume thaEntity One is

related to a given principle, and then the relaop entity can be used wilntity One
to relateEntity One with the principle entity.

Entity One Principle

Principle Entity One

The relationship entity can also be used to relatentity with the aspect of the principle
entity as shown by the diagram below. AssumeEh#ty Two is and entity, where
Aspect One is an aspect of the principle entity, theg&itity Two is related tcAspect

One, then we can relatdentity Two to Aspect One by using the relationship entity.
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Entity Two Aspect One

Aspect One Entity Two

Entity Attach to Other Entity

An entity that is attached to another entity carstew in a form represented by the
diagram below. Assume thattity 1 is attached t&ntity Two, and therEntity 1 and
Entity 2 can be shown by this diagram. The diagram abbees two entities that are
attached by another entity, while the one belowshtwo attached entity. In the
diagram above, we know the attached entity, whaeda not know it from the one
below.

Entity 1 Entity 2

| dentify Multiple Entities as an Entity

In term of entity, since an entity can be compaseishcluded multiple entities, sometime
it may be possible for us to show multiple entitissone entity. In this case, we can
follow the instruction below to show that. Let'ssame that we identify two entities:
Entity One andEntity Two. In this case, it may be possible for us to stimege two
entities as one entity as shown below.

Entity One Entity Two

The two entities above are the entities that watile Assume that those two entities
are part of another entity, in this case it is ggedor us to show them as one entity as
shown below.
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Main Entity

Entity One Entity Two

The way to look at it, assume that we have a n@iityehat makes ugntity One and

Entity Two, in this case we can show both entities as oriyerithat makes sense, since
the main entity is also an entity, so do the pafrthat entity. We can draw an arrow
from Entity One to Entity Two; since the main entity is also an entity, in tlasewe can
show the main entity below without being shomtity One andEntity Two. While we

call it main entity here, any other name can beludéhe way to look at it, we can use the
entity element to show entities as one entity.

Main Entity

| dentify Part of an Entity

Given that a part of an entity is also an entityeg that a section of an entity is also an
entity, it is possible for us to use the entitynedmt to show the identification of an entity
that is a part of another entity. Assume that fEmnty One, we identifyEntity Two and
Entity Three, where those two entities are partatity One. In this case, we can show
or identify those entities in the form below. histcaseEntity Oneis considered to be
the main entity that we identify.

Entity One

Entity Two Entity Three

| dentify Relationship as an Entity

www.speaklogic.org Copyright © 2011The Speak Logic 66
Project




Since the relationship of an entity is also antgnii this case it is possible for us to
show or identify a given relationship as an entifyp better understand that, let’s take a
look of the diagram below. Assume that we havevargrelationship as presented
below.

Entity One

Related .

Entity Two

Since the relationship betweEntity One andEntity Two is also an entity, in this case we
can show that entity in the form below as an entity

Entity One
3 Entity Three

Related —
—
Entity Two J

In this caseEntity Three is being identified as the whole relationshigeatity One and

Entity Two. To better understand that, we can representtlitsariorm below.
Entity Three

Entity One 1—’

Entity Two J

Entity Three
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While we show it in the form above, since theraadimit in term of number in a
relationship, there is no limit as well in termrafmber of relationship that can be
identified as an entity. Any relationship disreyany number can be identified as an
entity.

From the diagram above, the relationship entitidemshe dashed area is being used for
illustration only. While the relationship of antgyis an entity, it is always good for us
not to show a relationship inside an entity. Sitieerelationship of an entity is also an
entity, once we identify that entity, it is alwdystter for us to show that entity as part of
the main entity, rather than showing the relatigmatside the main entity.

The way to look at it, while we can identify a t&aship inside an entity, but we cannot
show a relationship inside an entity; since thiti@nship is being viewed as an entity, it
is better for us to show it as an entity. If werevgoing to show that entity as a
relationship, inside another entity, that will fuet increase the complexity of our model
and we will also loose our objective or focus. ©bjective is to reduce complexity to
help us understand and solve problems not to isereamplexity. Keep in mind that
does not exist on a piece of paper or a computeesc

The Location Entity

Location

Usage and Description

The location entity can be used to identify a lmrabr a site of operation. Given that the
functions that we execute do not take locations aoinsideration, while we can use the
location entity to identify a location, neverthalesis not necessary for us in the
modeling of our application. Since our applicatdwes not take location into
consideration, it may not be necessary for us éothis location entity to model our
application.

While the modeling of our application does not tid@tion into consideration and
should not take location into consideration, nehalgss if there is a need to identify the
location or the site that we operate within ourlegagion, the location entity can be used
to identify that site or location. For more infation about using the location entity,
refer to the example section.

Available Option
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Available options for the location entity include:
* Location
» Site
* Location with index or number
» Site with index or number
» Location of operation
» Site of operation
* Etc.

The Area Entity

M

Area

Usage and Description

We can use the area entity to show our area cbperation. Let's assume that we
operate in specific country or area, then we cantlis area entity to identify that country
as our area of operation. The area entity cantsagsed with the site of operation entity
to show both our site and our location of operatior more information about using
the area entity and the site entity together withlocation entity, refer to the example
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section. By understanding entity and parts oftgntne area entity can be viewed in the
form below as a main entity.

Each area or country in the main entity can be gtkwas a part of that entity. For
instance, if we identiffCountry One, thenCountry One is viewed as a part of the main
entity or simply as an entity within the main entitn this case, we can label them as
parts of the main entity as shown below.

To better understand the area entity, it is alwgoad for us to view it as the main entity.
In this case, we can view each area in the maityeast part of that entity. For instance
we can think the main entity in the form of thegiteam below, where the main entity has
parts. In this case, if we identiBart One, Part Two, Part Three and so forth. those parts
are considered as parts of the main entity, whach part represent an area of he main
entity. This is the same as saying the main aasétea One, Area Two, Area Three etc.

Main Entity has 1 Parts

Main Entity has > Part One
Main Entity has L Part Two
Main Entity has > Part Three

As we said above, the main area includes areasgewvithese areas are considered to be
areas of the main entity. For instance if we idgmrea One, Area Two, andArea
Three, those areas are considered to be parts of theenéty. In this case, we have

Main Area has P Areas
Main Area has > Area One
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Main Area has | g Area Two

Main Area has | Area Four

By understanding the explanation and the diagrdrosey we can represent the main
entity in the form where we can show the main gratitd the parts of the entities that
include inside that entity. In this case, we have

Main Entity

Part One Part Two Part Three Part Etc.

From the diagram above, each part of the mainyeistitonsidered to be an area, a
country, a location etc. The diagram below repressthe main area and the areas that
include inside the main area.

Main Area

Area One Area Two Area Three Area Etc.

From the diagram above, if we identify the namarofirea or the name of a part of that
entity, we can also show that in the main entitthe form below. In this casdame 1,
Name 2, andName 3 are viewed as the name of each part of entitywieadentify in the
main entity.

Main Area

Name 1 Name 2 Name 3 Name etc.

Although that may not be important, but if we wamtit may be possible to show the
names of countries or the image or sketch areasepted by countries
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Main Area

Country One Country Two Country Three Country Etc.

The diagram below show the sketch of each areawntry represented in the main area
entity.

Main Area

g

In the diagram below, we represent the countrieSaastry 1, Country 2, andCountry 3.
We can also use the name of the countries to represich area that makes up the main
area entity.

Main Area

g

Below, we label them a&rea 1, Area 2, andArea 3
Main Area

s

Since each area is considered to be a part of #ie entity, in the diagram below we
label them a®art 1, Part 2, andPart 3.

www.speaklogic.org Copyright © 2011The Speak Logic 72
Project




Main Area

€

The main area can also be used with continuithénform below. In this case, we use
the continuity to show more areas that are noblgsn the diagram below.

Main Area

| [
Area 1 Area 2 o @ O Area efc.
| |

—_—— e e —_ —a

In term of entity and parts of entity, we can abow the main area entity in the form
below, where we can use thas relationship label to show an area or a countay itha
part of the main entity. In this case we have

[RE

has >

/? - ‘ ’_"?f‘_g N

)

has

Available Option

Available options for the area entity include:
* Area
» Area of operation
* Area with index or number
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* Location

e Location with index or number
« Country

» Country with index or number
* Name with index

« Country name

e State

+ City

» City with index or number

* Place

 Etc.

Entity and Aspect of Entity Diagram

Entity and aspect of entity diagram can be showtheform below. For instance, if we
have an entity that has several aspects, then massathe form below to show that if we
want to. Assume that entity 1 has several aspégtthis case, entity 1 has aspect 1,
aspect 2, aspect 3, etc. Then we can show thasibyg the diagrams below. Since the
aspect of an entity is also an entity, the diagr@athe right shows that. In this case, we
use the diagrams below to show an entity that dedwther entities.

Entity 1

aspect 1
| aspect 2

aspect 3

aspect 4

aspect 5

aspect 6

aspect eftc.

www.speaklogic.org
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entity 2

entity 3

entity 4

entity 5

entity 6

entity 7
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The two diagrams below are the same as the one® abo

Entity 1 Entity 1
aspect 1 entity 2
aspect 2 entity 3
aspect 3 entity 4
aspect 4 entity 5
aspect 5 entity 6
aspect 6 entity 7
aspect etc. entity etc.

The same diagram above can be shown in the foranbaHere we simply use another
form to show it. From the diagram below, we ortipw 4 aspects. The other ones are
not listed.

Entity 1

sey

g " ' ¥ !

aspect | aspect 2 aspect 3 aspect etc.

Change of Communication Function from Communication
Tabulated Form
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Communication Application Value Communication Function

Usage and Description

Since our application is communication driven, gkes sense for us to show how any
change in our communication affects the applicatiSmce our project is communication
enabled, any change in our communication affe@ptbject. By using the table above,
we can provide information about how our projedrale related to communication.

Consider that the overall process as our applicatie@ can also say that the change of
our application related to communication. We tmedhange of communication function
from communication table to show how our applicagxecution changes from
communication. While the table above shows théclscess, it is always good to
expand it to show more information. The followitadples can be used to show more
information about the change of our applicatiomfrctommunication. Keep in mind that,
they are the same as the one above, but exteggioliding more information.

Communication Application Value Communication Function Communication Name

Communication Communication Communication Execution

Order Subject Function Application Value

Communication | Communication | Communication Execution o N
Order Subject Function Application Value | Application Name
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Communication Application Communication Application Communication
Order Value pp Function
Communication Application Value Communication Function Communication Name
Communication Communication Communication Application Val C ication Functi
Order Date & Time pplicatio alue ommunication runction
mmunicati .. N . o ..
£ O:d;iatlon Communication Date | Communication Time Comunication Communication Result

Available Option
Available names for the change of communicatiorcfiom related to communication
include
* Change of application related to communication
» Change of application from communication
» Change or communication function related to commaton
» Change of communication result related to commuioioa
» Change of communication execution function reldatedommunication
» Change of application function related to commutiica
» Change of application execution function relateddmmunication
» Change of application result related to communicati
* Etc.

Change of Communication Function from Communication
Graphical Form
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communication function

communication

Usage and Description

While we can use a table to show the change ofcgmn from communication, we also
use the graph above to show or plot how our comeatioin function changes related to
our communication. For instance, if we are workim@ project and we consider that
project as our application, since that projectfgrection of our communication, we can
use the graph above to show how that project ctsafnge our communication. Since
we consider that project as our application, weusathe graph above to show how that
application changes from communication.

While we can use multiple tables as shown abovkdnable version to provide more
information about the changes, we can also usgrtph to show the same information
as well. In this case, we can customize the gehand the labels to show the
information. We use the graph axis above to shoplai the change of the
communication function related to communication.

Available Option
Available options name for the graph above include

» Change of communication function

» Change of application

» Change of communication execution function
* Change of application result

» Change of the project

* Etc.

Graph Line and Graph Point
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Description and Usage

When using the graphical form to show the changeuofapplication related to
communication, we can use the graph line and puathtthe axis to show the changes.
We can rotate the line to any location to reflbet thanges. We can also extend the line
and add to it when constructing our graph.

Graphical Axis Entity

X-axis

s1xv-A

Description and Usage

Depend on the information we want to show, we cantbe graphical axis entity above

for that. The graphical axis entity can be usegktioer with graphical lines and points to
represent information. Since graphs are consideréé communication entity, then we
can use the graphical axis with graphical lines poidts as communication elements in

term of communication to represent information.

Available Option

Available option for the graph axis entity inclucesy other name we want to give the
axes.

The Continuity Entity

e

1

I I

I I

I I

I I

I I

I I

P @ }.\

I

[T T T T T 1 . e |

I | [ I

® ° ® 1 1 |
I |

| | [ I

[ ] e o o } e o o } } I
|

{ ® | ! ! |

o i | | ‘
I I

Description and Usage

We can use the continuity entity to show the presei continuity. For instance if an
entity is continue, we can use continuity to shbatt For instance in a group of 50
people, we can show 3, and then use continuityeaéhd for the rest. We can also use
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continuity in the middle, and then show the last ahthe end. Continuity can be used
wherever it is needed. Continuity can be used ®aith entity, whenever it is needed.
For instance we can use it for part of communicetiomction, part of application and
with all others whenever it is needed. The aretgpntinuity can be used for the people
work together diagram. Refer to the example sedto more information about using
continuity.

Group of People

Within our project diagram, if space is an issuecar use the following diagrams to
show selected group of people, see the examplmsdot more information. Group of
people can be shown in the project by using bothefliagrams below. We can use the
first diagram to show selected group of people ocoraputer screen, while the second
one is to be used on a piece of paper or a draloagd.

ARA

When using the linear form of grouping as showrvabwe can also use continuity to
show a large group of people for instance. Thgrdia below shows a group of 50
people. We use continuity to show that there aveerpeople in the group than the ones
that are visible to us as shown by the diagramvbeld/e can put the continuity after two
or after three it does not matter. The using efdbntinuity shows there are more people
in the group.
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5 ¢
AVAVAN

By understanding the person entity, the principigty, and the relationship between the
person entity and the principle entity, a groupebple can also be identified as shown
by the diagram below.

Person 1 Person 2 Person 3
Group of people We

Sub Application and Part of Application

If the application is segmented into several padsye parts of the application can be
grouped to give a single part as shown from thgrdias below. The first diagram
shows that the application is divided into panpdst 2, and part 3. In the second
diagram, we simply use the empty container to gimanp 1 and part 2 of the application.
To preserve space, we then use the compressedf@rauping to group part 1 and part
2, which results to the third diagram.

Application
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Application

Part 1 > Part 2 — Part 3
Application
Part 12| ——p  Part3 Group Part of
Application

If the project is divided into several sectionsniaybe possible to have sub applications
on that project; a sub application is considereet@ part of that application that
includes other parts. A sub application can alsadnnected to a sub function. We can
also say that the parts of a sub application cdinked to a sub function. The symbol of
a sub application is similar to the one of a suizfion. The diagram below shows the
usage of sub application. From the diagram, wesearthat the application is made of
two parts, but the first part is considered to Isilaapplication. The diagram to the right
shows the general form of a sub application.

Application

Sup Application > Part 2
Sub

Application

Sub Application Result and Part of Application Result

If the project is divided into several sectionsndybe possible for us to use sub
application result as well; a sub application resutonsidered to be a part of the overall
result. Assume that our project is made of 5 sastiwhere each section is managed by
a different person and different people work orhesextion. In this case, the result of
the project will be the combined result of the Btems. To show that, we can us sub
result or part of the result. The first diagranoleshows that the application result is
made of two parts: part 1 and part 2. The secaagtaim shows that part 1 of the
application result includes other parts insidethis case, part 1 of the application result
is considered to be a sub application result. idiastification of a sub application result
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is shown to the right of the third diagram andgisimilar to a sub function. Parts of the
application result can also be grouped similarlpaats of function by using empty
containers.

Application Result

Part 1 > Part 2

Application Result Part 1

Part 11 »  Part 12

Application Result Part 1

Sub N
Application Result . Part 2 Sub

Application Result

Grouping Part of Communication Function

Since the overall project is driven by our commatian, when managed by different
people, if makes sense for the communication fondib be divided into several
sections. We have already seen that from the usfape empty container entity. The
diagram below shows that our communication functsomade of three functions.
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Communication Function

FI1 -y P F3

By using the empty container entity, we can grdwfirst two functions of the
communication function and leave the last one umged as shown below.

Communication Function

F1 I F2 . F3

To reduce spacing, we then use the compresseddognoup the two functions from the
main communication function as shown here. Thgrdia to the right represents the
compressed form of grouping parts of function. Klthe combined grouping for
function F1 and function F2.

Communication Function

F12 > F3 Group
Part of Function

Review of Grouping
In this section, let's review what we have learabdut sub function, sub application, sub

result, part of function, part of application arattpof result. We use sub functions, sub
applications, and sub results to link to otherisestof our project. That usually happens
when our project is divided into several sectiomle diagram below shows the
representation of sub function, sub applicatiom, sub result.
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Sub Sub Sub
Function Application Application Result

Since our project is communication driven, it ioorntant to assign individual function to
employees or groups. When that happens, eachduaristconsidered as a part of the
main function. We can group several parts of thasetions into one function. We can
also do the same process for application and agiicresult. Below shows the
representation of grouping parts of the applicatparts of communication function, and
parts of communication result in compressed form.

Group Part of Group Part of Group Part of
Function Application Result

Grouping Communication Holder

Communication holder and external communicatioméotan also be grouped in the
following form. Refer to the example section fooma information. The shadow form
can be used on a computer if necessary.

Communication
Holder

Communication
Holder

External Communication

External Communication Holder

Holder

Grouping Entity and Communication Entity
Entities and communication entities can also beged in the following form. Refer to
the example section for more information about gnog entity.

Entity

Entity

Communication

Communication =i

Entity

Grouping Error and Compensator
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Similarly to grouping entity above, error and comgegtor can also be grouped in the
following form

|
Error Error I

|
Compensator Compensator I

Grouping of Problem
As an entity itself, many problems can also be geain the following form

\
L Problem Problem

!

Grouping of Feedback

If needed, feedback can be grouped as shown ljidigeam below. Assume that there is
a need in a project to show all applicable feedbaakd then the feedbacks received can
be grouped on the form below. Refer to the exarspition for more information.

\
L Feedback Feedback

i

Grouping of Analysis
If there is a need in the project to show thedfsinalysis, then the analyses can be
grouped in the form as shown below, see the ensiige sedition for more info.

i

\
L Analysis PUELEE

Grouping of Question and Answer
While it may not be necessary, however if thera meed to show a group of question and
a group of answer, we can group questions and asswehe form below.

!

\
L AN Answer

www.speaklogic.org Copyright © 2011The Speak Logic 86
Project




Question
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Some Entities Connection Examples

This section provides some examples of the usatieecdntities. We can use this section
to learn how to connect some of the entities iaemal project.

Example Number 1

Below we show the usage of the error correctioretion. In this case, the person to the
left can be considered as the children while theeiarthe right as the parent.

ECF <

Application
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Example Number 2
Since the principle is considered to be the patself, then the principle can replace the
parent on the diagram above. The diagram beldheisame as the one in the example

above, except the parent is simply replaced bytmeiple.

g Principle

ECF <4

Application
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Example Number 3

The diagram below shows the usage of the commuaircatixture entity. As we know,
the communication mixture can take several comnatimos as input. The output of the
communication mixture then feeds the communicagigplication mixture as shown to
the right. The way to look at it, communicationsni many people can be connected to
the communication mixture entity. In this case, tlutput of the communication mixture
entity contains communications of those people.tt@ndiagram below, communication
from four people are connected directly to the camization mixture entity.

Application
Communication and
Application
— P
—Pp ..
Communication Communication
Mixture
— P
o

The diagram below is the same as the one abovepttteeX inside the circle is
replaced by Mix. Below we use tMix to denote the mixture of the communication and
the application. It does not matter; we can simydg the whole word or the phrase.

Application
Communication and
. Application

Mix >
.
. ..

Communication Communication T
Mixture

R —
R —
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Example Number 5

We do have option to use the communication proeest/ or the communication
mixture with the communication application mixturk does not matter which one we
use, we can still use the communication mixturéyetd group our communications.
The communication mixture entity can also feeddi@munication process entity. We
can also connect people or communication direotipé communication process entity.
The way to look at it, the communication proces#emcludes inputs for both
communication and application. It is always goodtoup all of our communications as
a single entity to feed the communication procedgye The diagram below shows the
usage of the communication mixture as a singleyetatifeed the communication process
entity. The communication process entity is theesadMix inside the circle or th¥
insider the circle. The diagram assumes the separaf the application from
communication. Itis also good to understand ttlaér communication mixture can also
feed the communication mixture entity.

Application I <

Communication
Process

Communication
Mixture

YV V Vv VY

Example Number 6

If the application is divided into several sectiptie application entity can be used to
show that. Below the application is made of 3isest we use parts of application to
show that. In this case, each section is congiderée a part of the application. We can
also use the grouping entity and the empty contamgroup part of the application.

Application

Part 1 Part 2 Part 3
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Instead of using the grouping entity as shown atto\show the grouping of several parts
of the application, the grouping of several paftthe application can also be presented in
the following form as shown below. This case dejsemn the type of paper or drawing
board that is being used to model the applicatidgsume that we are using a portrait
size of paper, where we don’t have a lot of widthvbrk with, then we case use the
portrait form of the application to group the patour application. If we want to, we

can use arrow to show how the parts are connectgdhter. Below, the diagram to the
left is the same as the one to the right, excefitérone to the right, we use arrow to
show the connection of the parts of the application

Application Application
Part 1 Part 1
Part 2 Part 2
Part 3 Part 3

Example Number 7

Comparing to the grouping of the application shalove, for applications that are
divided into several parts, those parts can bepgdwas shown below. We mean an
application where the communication function isididd into several parts or sections.
Both the first diagram and the second diagram tsmlze used to show the grouping of
parts of the communication function. The way tokl@t it, the bigger entity represents
the overall communication function, while the snaaitities represent parts of the
communication function. We can also say that ilggdy entity represents the overall
parts of the communication function. Below, theasel diagram is the same as the first
one, except in the second diagram, we use arr@hdw how those functions connect
together.
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Communication Function

Part 1 Part 2 Part 3

Communication Function

—» Part1 | Part2 ) Part3 —>

Example Number 8

If the communication function is made of severatisms, sub functions can be used to
show part of function of the communication as wélere is an example; in this case F1
is a sub function. This example is similar to time above, except one of the functions is
considered to be a sub function. A sub functiaa fisnction that contains other functions
inside. If the communication function is divideda several parts, some parts of the
communication function can also be considered hdgctions.

Communication Function

4’ F1 > F2 F3 >

The diagram below shows the expansion of the sotiftnF1. As we have said it, a

sub function is a function that contains other fiores inside. As shown by the diagram
below, we can see that the sub functdnabove expanded to functions F11, F12, and
F13. All those functions are considered to bespafthe main communication function.

F1

F11 - F12 - F13

Example Number 9
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Time line can be used in the following form to shiowction execution related to time or
to show specific process related to time. Forainse, we can use time line to show the
execution of our communication function or the tioie@a communication. The first
diagram below shows the first time line while tiee@nd one to the right shows the
successive time line.

Time 1 < Time 2 >

Date 1 Date 2 Date 3

The diagram below is the same as the one abovepettiat we connect both time lines
together to show an overall single time line. Akt we do connect the first time line
with the successive time line.

< Time 1 >le Time 2 q

Date 1 Date 2 Date 3

We can also use progress bar with time line to sth@nprogress of our application. In
this case, we can use the progress bar with spéicfe line to show the progress of the
application at a particular time. The diagram lelses both progress bar and time line
to show the application progress at a given tithnethis case we can seetiahe 2 we are
15% completed. The diagram to the left is the sag#he one to the right, except in the
one to the right, the progress of the applicatgoshiown at the bottom.
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5% Completed 15% Completed

I
| Date 1 Date 2 Date 3

|
|
:4 Time 1 > < Time 2 > I< Time 1 ’I‘ Time 2 J

| | | 5% Completed 15% Completed
ate 1 Date 2 Date 3

Example Number 10

We know that the communication mixture entity takemimunication as input. In this
case, we can connect people directly to the comeation mixture entity to show how
their communications feed that entity. In the d#ag below, we connect three people
directly to the communication mixture entity. Towatput of that entity is the total
communications of those people.

www.speaklogic.org Copyright © 2011The Speak Logic 95
Project




Communication Communication >
Mixture

The diagram below is similar to the one above, pitiee grouping entity is used to show
a group of two people. We know that we can usathaping entity to group people; we
can also use it to group communication mixtureefwant to, although not necessary.
The way to look at it, while the grouping entityused to show a group of two people;
however the communications of those people feeddhemunication mixture entity.
Again, the output of the communication mixture gnitncludes the total communications
of those three people. The second diagram belteisame as the first one, except
group is being replaced by the plus sign instead. ésdwot matter; we can always
change the text in an entity.
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4

Group

Example Number 11
We can use timeline in conjunction with datelineshow specific statement or question

at a given date or time. Below is an example afgithe time chart with the dateline to
record statements and questions. From the dialgedowv, Date 1 is the recorded date for
statement 1 and 2, while Date 2 is the recordeel idatquestion 1 and 2.

e  Statement 1 e Question 1
e Statement 2 e Question 2
time
Date 1 Date 2
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Example Number 12

The diagram below shows the starting communicadfdwo people that extends to four
people. As usual, the output of the communicatiixture entity includes the total
communications of the people that feed that comoati@in mixture. The last output of
the communication mixture entity includes the comioations of all people in the
project or that communication. The diagram belbaves a total communication of four
people. To reduce space, we can group some cf fhexsple together. The second
diagram below simply shows the grouping of threthoke people. Keep in mind that
the second diagram is the same as the first omepéin the second diagram we group
some of those people together. The output of dnencunication mixture is still the
same. The third diagram below is the same, exgepise the linear form of grouping.

P ®

Comm
Mix

Comm
Mix

Comm Communication

Mix

P B RPEB P ®
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Example Number 13

Assume that our application is divided into twotpawe can use part of the application
entity to show that. The diagram below shows thaitproject is made up three
employees, where the application is separatedivdqarts.

Application

Part 1 » Part2

Employee 1 Comm
Mix

g |

Comm /X\
Mix U
Employee 2 A
Employee 3
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Example Number 14

This example is similar to the one above; excegt émployee number 3 is being
replaced by a communication holder and part 1 @fbplication also include other parts.
In this case, it looks like part 1 of the appliocatis viewed as a sub application. The way
to look at it, while employee three is being worke@ project that has different parts;

but employee three can also be worked in anothetiopthe project. Since employee
three cannot be duplicated physically, in this acasen the whole project is being viewed
in the same sheet or on the same screen, it makee for employee three to be replaced
by his/her respective communication holder. Fetance if we model our project on a
piece of paper, where employee three has two famgin different section of the project,
when both sections are being viewed in a singletstreon the same screen, in one
section employee three is replaced by his/her odisfgecommunication holder as shown
below.

Application Part 1

Part 12

Employee 4 Comm
Mix

g |

Comm f)(\
Mix U
Employee 5 4
Communication
Holder
Employee 3
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Example Number 15
This example is similar to the one above. In &xample, the communication function

includes a sub function, where the sub functiontlmamiewed as function 2. We can use
sub function to group part of the communicationction that can be outside of the main
function. We can also use them to show functibias éare also parts of the main

function.

Application

Communication Function

Employee 1 Comm .

g I

b4

The subfunction can be viewed
as Function 2

Employee 2
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From the diagram above, the sub function is coms@tlto be function 2. Now, we can
expand the sub function to show more informatiooualbhis section of the project. By
doing so, we can also see the part of the applicasi also expanded with the sub
function. In this example, part 2 of the applioatis also linked to function 2, where
function 2 is considered the main communicatiorcfiam for that part of application.
Our diagram below assumes that our project is médeveral sections. In this case,
each section can lead or managed by different pedpdr this reason, it makes sense to
have sub functions, part of functions, sub resphsts of result, sub applications, and
parts of application.

Part 2

b4

Employee 1 Comm oo
Mix unction
g I

Employee 3

The diagram below is also another way of lookinthatdiagram above. If we assume
that employee 1 can be working on a different pathe project, but managed by another
person. In this case, when viewing both diagrasgsther, it makes sense for employee
1 to be replaced by his/her respective communigdtader. Assume that employee one
is working and managed by one person, but helpitgoother project that is managed
by another person. In this case, when both p®ge linked together and being viewed
in the same screen or paper, in one of them, mtstlgecond one, employee 1 will
definitely be replaced by his/her communicatiordieol The diagram below simply
shows that. While we say help out in another mtope mean help out in another part of
the project. Itis always good to view the ovepathject as a single project that has
different parts, but managed by different people.
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Part 2

Employee 1
Comm Holder

b4

Comm .
Mix @——P Function 2
G ‘

Employee 3

Example Number 16

In a project, it may be possible for us to use camigation of people that are not
physically in the project. The external commuri@matholder enables us to do so. Itis
very important for us to take communication intmsideration in our project. The
external communication holder can hold communicetiivom external sources. For
instance people, books, magazine articles, newsdetinterviews etc. The diagram
below shows the usage of the external communicddeer. In this case, it shows the
communication of a person that is not physicallyhi@ project. While that person is not
in the project, however its communication contrésuto the project.
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Application

Employee 1 Comm
Mix

g |

Mix

)
9,

Employee 2

Person Name
External Com. Holder

The diagram below is similar to the one above, pitiee external communication holder
holds communication from a magazine article. Smaeproject can contain
communication from different sources, in this cageuse that magazine article in our
project. That magazine article can contain infdromathat enables us to execute the
overall function of the project, which is the commuation function. That magazine
article can also affect the result of the projdtis very important to take external
communications into consideration in term of anialys
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Application

Employee 1 Comm
Mix

g |

Employee 2

Magazine Article
External Com. Holder

Since external communication holders are considieré@ entities, they can also be
grouped by using the grouping entity. From thegydien below, we use the grouping
entity to group two external communication holde8ince the project we are working on
depends on what we need to do, there is not limhiav many external communication
holders that can be used. Assume that we are mgikia project where information
from a book and one from a magazine article, wegraop both of them to show that.
We can also group them together as long as thepeaombined to enable us to do what
we do. From the diagram below, we group two exlecommunication holders. In this
case, we assume that both of them are relatedatdeens to do what we do. The second
diagram below is the same as the first one, ex@epise the communication mixture for
the two external communication holders rather thising the grouping entity. Since
external communication holders are considered twob@nunication themselves, they
can be mixed together using the communication mexéuntity.

www.speaklogic.org Copyright © 2011The Speak Logic 107
Project




Employee 1

Grouping

Comm communication

Mix

Comm communication

>

>

Mix

External
Communication |[———————P
Holder
External
Communication |[——————— P
Holder
Employee 1
Communication
Holder
Comm
Mix
Communication
Holder
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Since communication holders are considered to beesthemselves, they can be
grouped in the same form as we group entities. didagrams below show another way
of grouping external communication holders and comication holders. We can use
this form of grouping in order to preserve space.

Employee 1
Comm communication
Mi >
1X
A
\
External
Communication
|| Holder
Employee 1 L
Comm communication
Mi >
1X
A
\
Communication
Holder
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Example Number 17

Within a conversation or a communication, we caraliean important part of that
communication. Within a communication or a cona&o, we can recall and important
point of that communication. We use the callowshiow an important point of a
communication or a conversation. Assume that tmpleyees are communicating
together about a project, if one of the employeesnd an important point of that
conversation, then a callout can be used to shatv Whenever we use the term
important point, we use a part of the communicatiat is important to the project or the
employees for instance. In the diagram below, se2aallouts to record important parts
of the communication by the employees.

Employee 1 communicates
with employee 2 about some
issues

B

Employee 1

Comm
Mix

The communication of
employee 1 and employee 2
carryovers to employee three
about the same issue

Comm
Mix

P ®

Employee 2

That same
communication
¥ continues to
employee 4
Corflm >
Mix Communication
y
Employee 3
Employee 4
www.speaklogic.org Copyright © 2011The Speak Logic 110

Project



If we don’t want to use callouts to show importpaints of a conversation or
communication, we can also use node with numbesbadar that. The diagram below is
the same as the one above, except nodes with nsrateebeing used instead of callouts.
When we use nodes with numbers, we can also wg#etd provide more information
about those nodes. The table below the diagramidese information about the nodes.

P ®

Employee 1
Comm
Mix

Comm
Mix

P ®

Employee 2

Comm

Mix Communication

4

Employee 3

P ®

Employee 4
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Node

issue

employee 3 about the
same issue

1 2 3
Number
Employee 1 That same The communication
Node communicates with communication continues to employee 4
Information employee 2 about an carryovers to

Example Number 18
While we use words for oral and written communimasi, however we don’t think about
them directly. We think about actual entities thepresent. For instance, if we use the
word table we think about an actual table, which is a phydedale. If we use the word
tree, we think about a tree which is a physical entityie point to label or the point to

arrow label enables us to map a word with the &etoidty it represents. From the

diagrams below, we show the usage of the poirdtiel| where we show each actual
entity each word represents.

>

Entity 1

N

the actual entity

Word 1 Points to
the word
Word 2 Points to
the word is identified
Points to

Entity 2

the actual entity is identified

Word 3

the word itself

www.speaklogic.org
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Word 4 Points to > Entity 4

the word is being the actual entity is being
identified identified
Word 5 Foints to > Entity 5

N

the actual word the actual entity
Example Number 19
Within a project, it may be important for us to ghactual entities that we use for the
project. Assume that in our project it is requifedus to use physical entities, it may be
possible for us to show the usage of those entitlased to the project. In this case, we
can group those entities to show their quantitieise diagram below shows the usage of
entities in our project. We can only do that ikitesired. In the diagram below, we use
the grouping entity to group the entities.

Entity 1 >
Entity 2 >
+ Entities
Entity 3 >
Entity 4 >
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To preserve space, we can also use the groupirggeim the form of one on top each
other to show the grouping of the entities. Thegdam below shows a different way of
grouping the entities to the left. This diagranthis same as the one above, except we
group the last three entities in the left in ortdereduce space.

+ { Entities

Entity 1 >

Entity >

Example Number 20

Since problems are considered to be entities tHeeseahey can also be grouped.
Within our project, it maybe possible and requoeuds to show all the problems we have
in the project. By grouping all the problems wed¢ogether, we show the total
problems we have in the project. The diagram bedbaws the grouping of the problem
we have in the project. We use the grouping etityroup the problems.

Problem 1
Problem 2
+ —# Problems
Problem 3 P
Problem 4 g
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As we did for the entity grouping diagram, we césoalo the same for problems. To
preserve space, we have grouped the last fourgmsin the left above in a form of one
on each other. The result gives us the diagraowbeDisregard the way we group them,

the output is always the total problem for the pcbj

Problem 1

Problem

>

Example Number 21

Problems

Since error in communication gives rise to problamerror that occurs in a project can
develop problems, it may be important for us tauaaglate all errors in our project so we
can keep track of them. The diagram below showayafor us to group our errors in our
project. We use the grouping entity to group ttiers.

Error 1

Error 2

Error 3

Error 4

www.speaklogic.org
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To reduce space, we can also group errors in avdrere we can show one on top of
each other. The diagram below shows that fornrafiging error. This diagram is
simply the same as the one above, except thehlast errors in the bottom are being
grouped to form a single one. The result is #t#l total error for the project.

Error 1

Error

>

Example Number 22

Errors

It may be important for us in a project to trackthé feedbacks that we receive for the
project. In this case, we can group all the feelibado we can keep track of them. By
using the grouping entity in the form showing ahove can group all the feedbacks we
receive in our project. The diagram below shovesttital feedback of the project.

Feedback 1

Feedback 2

Feedback 3

Feedback 4

www.speaklogic.org
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While we use the diagram below to sum all the feaeldlb we have received in the
project, to reduce space, we can also group thearfonrm of one over each other. The
diagram below is the same as the one above, ewaegtoup the last three feedback one
on top of each other. The output still provides tibtal feedback.

Feedback 1

Feedback

>

Example Number 23
We can use timeline and dateline to show our ptejeeline and our project schedule.

The diagram below shows the usage of timeline atelide to show a project schedule.
While we use number with the date to show spedéi®, it does not matter. The date
can be any date that is related to the project.

e Meeting

Review

e  Testing

Feedbacks

e Delivery

Date 1

e Meeting

Date 2

Review

Date 3

e Testing

Date 4

e Delivery

Date 1

Date 2

www.speaklogic.org
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Example Number 24

Assume that we are working in a project, where exelb0 people in our project. Now
while modeling our project, it may not be possitdeus to show all of them. For
instance, assume that we are modeling our prajexipiece of paper or a drawing board,
for illustration purpose, we may not want to shdwoathem. In this case, we can use
continuity in this form to show the people in ouoject. For the first diagram, the
continuity means there are some other people Béeon 3, while in the second

diagram, the continuity means there are some qiaple betweeRerson 2 andPerson

50.

500 | [00 @

Person 1 Person 2 Person 3 Person 1 Person 2 Person 50

We can also use continuity to show the continuftgarts of our communication function
and also the continuity of part of our applicatiorhe diagram below shows what we are
talking about. Assume that we are working in gemp where our communication
function is made of 10 different functions. Inglzase, we can show them in the
following form. Assume that we have limited sp&@show all the functions, here we
use continuity to show there are some functiongéen the last one that are not listed.

Communication Function

|
|
Part 1 Part 2 —————> o 0 @ — P Part 10
|
|

,,,,,,,,,,,,,,

As we did for the communication function above,sa@ also do similarly for the parts
of application and any other entity that can bedusigh continuity. Assume that we are
working in a project, where our application is madl@0 parts; in this case we can use
continuity if we don’t want to show all of them sisown by the diagram below.

Application

|
|
Part 1 Part 2 > o @ @ —— P Part 10
|
|

,,,,,,,,,,,,,,
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Example Number 25

Since references contain information, it maybe ites$or references to be given to us at
a time we can use it and when it is necessary. r@fleeence entity can be used in the
form below to show a reference given from one petscanother person.

gved Reference I BN

I You

Since not all entities are considered to be refsremnd the principles attached to a
reference must be understood in order for a giveityeo be considered to be a
reference, it may be possible for one to presemndity to others that is not a reference.
For that reason, feedback can be used as showw lbedlo the reference entity to
determine if that entity is an actual reference.

gved Reference - fo

T

Principle

I You

Since a reference is given in the form of commuioca during our communication it is
possible for a reference to be given and it is ptsssible for a reference to be captured.
The diagram below shows that a reference is givgimg a communication.

@ give this > Reference in this )

Communication
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Since a reference contains principles, the origia i@ference is not important to us, but
the reference itself is what is important to usr this reason, the one who provides a
reference to us is not important to know, but #fenence itself is what is important for
us to know. In this case, it is good to show thegference is given without showing the
one who provides that reference.

is given to g g is provided to E
L

A reference >

A reference

You You

Since a reference is given in the form of commuiocaand the one who provides the
reference is not important to know, but the refeeeitself. In this case, it is possible for
us to show that the reference is given in a comoatioin without showing the one who
provides that reference as shown by the diagraowbel

A reference s given inthis g, Communication A reference is provided in thiy,| - Communication

Example Number 26

We use the continuity entity to show more entitlest are not visible in the diagram. For
instance, if our communication function includesnyméunctions, it is possible for us to
use the continuity entity to show more functiongttlre not listed in the diagram. Let's
assume that our communication function is madefah6tions as shown by the diagram
below.

Communication Function

Since our communication function is made of seviemattions, while modeling our
application, it may be possible for us not to stahhe functions that include in our
communication function. While the diagram aboveve 6 functions, it is possible for
us to use continuity to show some of those funetitiat are not in the diagram as shown
below.

Communication Function
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Example Number 27

The continuity entity can also be used to showadisntities in our application. For
instance assume that we want to show at list afiemtnd some of those entities are not
visible in the diagram, we can use the continuitijte to show that. Let's assume that
within our application, we have a list of entitibsit is made of 6 entities as shown by this
diagram.

Entity 1 P
Entity 2 P
Entity 3 P
4> Entities
Entity 4 P
Entity 5 P
Entity 6 P

Let’s assume that within our diagram it is not plalssfor us to show all the entities, and
then we can use the continuity entity to show ergtithat are not visible as shown by this
diagram. The usage of the continuity entity frdma tiagram above simply shows a list
of entities that is not visible in the diagram. Mglwe use the continuity entity before the
last entity, we can also put the continuity atehe. Putting the continuity at the end
shows that we don’t know the end of the list.
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Entity 1 >

Entity 2 —P
+ 4’ Entities
N
[
Entity 6 R

Example Number 27

In a project it is possible to have groups of pedpht have specific functions. We can
use the group of people entity to show groups opjeethat make up our project. For
instance assume that in a project, we have fowpgrof people. In this case, we can
represent those groups of people by the diagraowbefAs shown by the diagram below,
our project is made of 4 groups of people. Theigro the right shows the total number
of people in the project.
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people in the project
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|
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Example Number 28
Let’'s assume that we have a relationship diagrastiows the relationship between
entity 1, entity 2, entity 3, andentity 4 as shown by the diagram below.

Entity 1

Related
Entity 2
Entity 3

Related
Entity 4

While we draw the relationship above to show midtigglationships or a relationship
entity for 4 related entities; when having multipletities in multiple relationships or
multiple entities in a relationship, it is possilide us to define an entity at specific node.
Since two entities are related by an entity, ared ¢mtity is considered to be the result of
that relationship, it is possible for us to idep@i entity at a node or identify it by a node
as shown by the diagram below.

Let’s assume thaintity 1 is related teentity 2, where that relationship is related to the
relationship oentity 3 related toentity 4 as shown by the diagram above. To better
understand the explanation, let's show that diagghove again with node number.
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Entity 1

Related

Entity 2

Entity 3

Related

Entity 4

From the diagram above, we redraw the relationabgn to show node number. In this
case, we have node 1 that shows the relationshigebaentity 1 andentity 2, node
number 2 that shows the relationshipeatity 3 andentity 4 and node 3 that shows the
result of the relationship from node 1 and nodérthis case, node 3 shows the
relationship of the 2 relationships.

Now what we can do, we can identify entities foded, node 2, and node 3. Assume
that we can identify the entity, entity 1 and gnfitare related by, and then we can define
that entity. Here, let's define or identify thaitiéy as entity 5. Then we can identify the
entity, entity 3 and entity 4 are related by enityhen we can identify the entity those
two relationships are related as entity 7. Whatwaee done here, we simply identify
node 1 as entity 5, node 2 as entity 6, and naakeehtity 7. In this case, we can redraw
the relationship diagram in the form below withsbentities.
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Entity 5

Related Entity 7

Entity 6

As we can see, if we can identify specific entitgecific node in a relationship, then we
can reduce the number of entity in that relatiopst8ince there is no limitin a
relationship in term of number, this process hami.

Example Number 29

Since it is more understandable for us to approaletionships one at a time, the
separation line and the time line can be used begén a relationship diagram to show
the way we approach or identify a relationship gpecific time. In other words, since it
is better for us to identify the relationship ofohentities at a time, rather than several
entities at a given time. In this case, we cantiseseparation line with time line to show
how we approach or identify a relationship at agitime. For instance related to the
diagram below, we identify relationship one whistihe relationship of entity 1 and
entity 2 and then later at time 2, we identity tesult of that relationship in relationship
with entity number 3 and so forth.
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time 1 time 2 time 3

| | | |
| Step 1 | Step2 | Step3 |
| | | |
Entity 1 : : : :
| | | |
I Related I I I
| | | |
| | | |
| | | |
Entity 2 | | | |
I I Related I
| | | |
| | | |
| | | |
I I I I
Entity 3 } } | |
| | | | Related
| | | |
| | | |
| | | |
| | | |
Entity 4 ' | | |
nlity | | | | Related
| | | |
| | | |
| | | |
| | | |
buiys | | | |
| | | |
| | | |
| | | |
< i< > >
| | | |

Example Number 30

Since our application depends on our understandfitize principle entity. By having an
operating principle, it is possible for us to felldhat principle in order for us to execute
our project. Given that the application itself degds on everybody in the project, it
makes sense for those people to follow the opeyatimciple to enable the execution of
the application. Within the application itselfpiakes sense for us to show everybody in
the application related to the principle of opematas shown by the diagram below. The
diagram below shows that we have six people impooject. It does not matter in term of
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number of people we have, we can still show theth thie same operating principle.
We can also use continuity and group if space issure.

Principle of Operation

A

Person | Person 2

Example Number 31

Person 3

A

A

Person 4 Person 5

Person 6

Given that within the project itself, the statusadiunction is considered to be an entity;
similarity to the list of entity diagram, if necesg it may be possible for us to show the
status of each function that makes of our appbeatir the overall function as shown by
the diagram below. In this case, we can use thetiftn name or the actual function and

the completion status of the function; for instarfaur application or the overall

function of our application is made of 4 functiotfsen it is possible for us to show the
status diagram in the form below. The diagramWwedbows the % completion of each
function and the overall % completion of the ovieagbplication.
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Function 1

5% >
Function 2

10% >

Overall Function
>
Group 13%

Function 3

3% >
Function 4

15% >

Example Number 32

The overall process of modeling enables us to mogieapplication, disregard the type
of that application. For instance, if our applioatis being viewed as a service that we
provide, it is possible for us to model it. As Whas, if our application is being viewed as
a product that we develop, it is possible as welus to model it in the same manner. In
term of modeling our application, if the resultaefr application is being viewed as a
service, that service is being viewed as an entéity well as, if the result of our
application is being viewed as a product that w&amthat product is being viewed as an
entity. By understanding that, if term of entityis possible for us to show or identify
that entity within the model of our applicationorfnstance, if our application is to
produce a physical entity, then we can show thatygeroduced by our project or our
application in the form below. We can call it amme or its actual name, here we
simply call itEntity One.
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Entity One

From the diagram abovEntity One is being viewed as the entity produced by our
application or our project. If the purpose of pupject is to provide a service or service
an entity, therkntity One is being viewed as well as the service we proviieice an
entity must have a function and the function okatity is also an entity, then it is
possible for us to shotntity One and its function in the form below. Here we use t
nameFunction 1 as the name of the function of the entity; we es& any name we want
or the actual name of that function.

Entity One has > Function 1

The diagrams above show the entity produced bypplication and the function of that
entity. Given that an entity can have severalspaind each part of an entity can be a
function, within our application, it may be possilals well to extend the diagrams above
to the form below. From the diagrams below, tihgt fone to the left shows a list of
entity or list of part of entity produced by ourpdipation, while the one to the right
shows the function of each entity or each parhefdntity.

Entity 1 > Function 1 >

Entity 2 > Function 2 >

Group P Main Entity Group P Main Function

Entity 3 > Function 3 >

Entity 4 > Function 4 >

From the diagrams above, the main entity is beieg/ed as the entity produced by our
application. While in the second diagram, the nfanction is being viewed as the
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function of the main entity. Sine the main ent#ynade of several parts, if we wan to,
we can show it as a group of entity or a groupastgof entity, and so does the main
function. While we show both diagrams in the fabhove, we can also show them in the

other form below.

Main Entity

Entity 1 Entity 2 Entity 3 Entity 4

Main Function

Function 1 Function 2 Function 3 Function 4

Related to the diagram above, since entities tleatise in our application must have
functions, in this case we can use several entitiesir application to execute a function.
The way to look at it, several entities in our &ggion can have one or more function.
Assume thaEntity 1, Entity 2, andEntity 3 in our application havEunction 2. In this
case, we can show that by the diagram below.

Entity 1

has
Entity 2 > Function 2

Entity 3

Example Number 33

In an application or project, it may be requiredds to use many entities in order or us
to execute the function of that application. \Witkine project itself, if we use entities or
external entities to help us execute our functiomakes sense for us to show the list of
entities that we use in the project. The diagratow shows a list of entities that we use
to help us execute the function of our application.
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Entity 1 >

Entity 2 >

+ — Entities
Entity 3 g total entities use in project
Entity 4 >

While we use the diagram above to show the ligndities we use in our project, we
don’t have to show it in that form. We can alsowhn any other form.

Example Number 34

From the above example, we have shown the lishiities that are used in our
application. In this case, we show the list oftezd that we use to enable us to execute
the function of our application. Since we use éhestities to help us execute our project,
it makes sense for us to show that in a diagrareyevtve can show that the people in the
application actually use those entities to exetheapplication. By doing so, we can
show that in the form presented below. In the filagram, we show th&erson 1 in the
application usekntity 1 to executd-unction 1. In this casef-unction 1 is considered to

be the function oPerson 1 in the application.

G uses to execute
> Entity 1 ——P] .
ty Function 1
Person 1
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If our application has more than one person, ig tlhaise our application has many people.
It makes sense to show the entities they use tocugx¢he application. By doing so, we
can say that a group of people use a group ofienth execute the application or the
function of the application. In this case, we hthwediagram below. The function to the
right is considered to be the function of our aggtiion.

Function
/\ /\ o o o uses to execute >

Entities

Person 1 Person 2

Group of people

Example Number 35

By understanding the example above, we can se#&#harinciple entity or the analysis
entity can be used to show the analysis of anyethi#t we use to execute a function.
Assume that we are working in a project where wearsentity to execute a function, in
this case we can use the analysis entity in cotijpmevith that entity to show that
analysis of that entity as shown by the diagramwel

@ uses > Enti ty I to execute )

Analysis

Function 1

Person 1

From the diagram above, we can see Hmty 1 which is used byerson 1 to execute
Function 1 is under analysis. From the same diagifannction 1 may well be the
function ofEntity 1, so it makes sense to analyity 1 related td~unction 1 in that
application.

Example Number 36

To better understand the usage of the locatioyeidi’'s assume that our application
includes many people, where those people operaeparate locations while working
together to execute the functions of our applicatitn this case, in each location, people
who work in that application have their own funasan terms of groups. To better
understand that, let's assume we have 4 groupsayle where they work at separate
locations. Below the main function of the applicatis related to the functions of the
groups in the form of
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Main Function

Function 1 Function 2 Function 3 Function 4

From the diagram above, the main function is cared the overall function of our
application, wher&unction 1 is considered the function Gfroup 1; Function 2 is
considered the function @roup 2 etc. Here the overall function of the main apiicn

is made of 5 functions, where each function is mmred to be part of the application
function. In this case if we want to, it is podsifor us to show the locations or the sites
of operation of those groups of people in the fetow.

| |

Site 1 Site 2

| |

Site 3 Site 4
Since the people in the sites or at the locati@msrounicate together to execute the
function of the application, if we want to we cdrmo®w the connection of the sites in the
form shown below.
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[ ]
[ ]

Site 1 Site 2

A
v

- H

Site 3 Site 4

Example Number 37

By understanding our parent principle, it is polesfbr us to operate at multiple

locations. Since our application should not tadaation into consideration, our
understanding of the principle enables us to opextinultiple places, where we do not
take specific place into consideration. Let's assuhat we operate in 4 areas, then we
can use the area entity to show the places thapemte as shown by the diagram below.

Main Area

Area 1 Area 2 Area 3 Area 4

The areas that we operate can be viewed as entiteascan also be viewed as countries
as well. We can use the area entity to show tieabperate in multiple countries or
cities. If we want to, we can use the main aradyeto show the cities or the countries
that we operate in the form below. The usage @fdhm below assumes that we
understand our parent principles and that makpsssible for us to operate in multiple
countries. In this case we can show those countriéhis form
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Main Area

Country 1 Country 2 Country 3 Country 4

Since our understanding of our parent principlessdmot limit our mobility, with that
understanding, it is possible for us to extendsauvices to other locations where
problems are identified and need to be solved byservices. In this case, related to the
diagram above, we can show the sketches of thalamiuntries we are operating in the
form below.

Main Area
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Error I dentification and Correction Charts

In order for the error to be corrected, it mustdentified; in order for the error to be
identified, the communication or the process masamalyzed. We can use the error
identification and correction charts listed belandentify errors in our communications.

Error Identification

—Misuse of Instructions

—Use Inappropriate Instructions

——Disregard Instructions

——M isuse of Objects

—Use Inappropriate Objects
—Perform Inappropriate Actions
—Misinformation
——Misinterpretation

—Follow Others
——Miscommunication

L Exercise of Force
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Error Correction

——Good Usage of Instructions
—Use Appropriate Instructions

——Regard Instructions

——Good Usage of Objects

—Use Appropriate Objects
—Perform Appropriate Actions
—Proper Information

——Good Interpretation
—Follow Principles

—Proper Communication

L Exercise of Kindness
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Error in Sentence

—Use of Bad Words

—Use of Bad Expressions

—Use of Non Portable Words
—Use of Non Portable Expressions

—Use of Words with Multiple Meanings

Correction Consideration

—Use of Good Words

—Use of Good Expressions
—Use of Portable Words
—Use of Portable Expressions

—Use of Words with Single Meaning
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Conclusion

It is very important for us to model our applicatiand understand the process of
modeling our project in the communication doma8ince communication enables us to
do what we do, and we depend on communication tudavork, it is very important to
use communication to model what we do. It is agportant not to take communication
for granted within what we do.

When we model our project in the communication domae look at what we do from
the flow of our communication. In this case, wa datect and correct errors in a
costless manner before they happen. Now thatm&hfour project and verify that
everything is working accordingly, we can then prest or deliver it to our customers.
Since communication is not limited by us, sinceane not limited by our
communication, after delivering or presenting thagct to our customers, they may still
have questions for us that we need to answer. tHatwe understand the process of
modeling our project in the communication domaie,skould not limit ourselves from
communication.

From the paragraph above, we have learned thatevwecd limited to communication and
our customer can question us about the projeat ladi@g delivered or presented. Now
assume that our customers have provided us withhtwadred hours to complete the
project. We use the time to complete the projadtwe deliver it to the customers.

Upon delivering the project to the customers, thieyvery happy with what we have
done. In addition to that, they told us they pilbvide us with additional time, so we can
tell them how we have completed the project. Tinestjon here is how we did what we
have done. From what we have said, it is cerfahwe still have questions to answer to
our customers.
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Exercises

For some of us who may have questions about theimgamessages, the following exercise can
be used as a verification of our understandindgpefarinciple. By having a good understanding
of the principle, there should be no problem or @ity to verify the warning messages. Also,
people who have a good understanding of the pimapd who have worked out various
exercise from the beginning to the end of the bsbkuld have no problem with the error
messages. The understanding of those error messagéde used as a verification to determine
whether or not the principle of communication islerstood. For some of us who have some
difficulty to understand those error messages, tiuem off and start working some exercises
from the beginning to the end of the principle ofrenunication book.

Since any entity can be used according to us arad wh are doing, the exercises are not in
order in terms of weights. We can do whateverhugktwe understand and leave the rest for
later. As we make progress learning and understgrbde principle, then we can move to do
the ones we have left out. While the exercisegaen here, they should not be the starting
point of learning the principle. To understand Wening messages, it is better to start learning
the principle from the understanding the principleommunication book or with the help of an
instructor.

1. Show that a person cannot be deleted or erased

2. Verify that a person cannot be copied

3. Show that a person cannot be composed

4. Show that a person cannot be decomposed

5. Verify that a person cannot be grouped with otimitye

6. Verify that a person cannot be rotated or flipped

7. Determine that it is not possible to compose a gmfipeople
8. Show that a word cannot be deleted

9. Show that a word cannot be copied

10. Determine that a word cannot be composed and dexsedp
11. Verify that an entity cannot be rotated or flippedou may need to look at the aspect of

the entity itself related to rotation. You mayaiseed to look the function of the entity
related to rotation as well.
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12.Determine that an entity cannot be composed orrdpose

13. Show that the function of our communication cari®teleted

14. Show that the function of our communication carmetopied

15. Verify that the function of our communication cahbe composed

16. Verify that an application cannot be deleted

17.Show that an application cannot be copied

18. Determine that the result of an application carbeotieleted

19. Show that the result of an application cannot ljaezb

20. Show that our communication cannot be composed

21.Verify that the communication function cannot benpmsed

22.Show that the result of our communication can motémposed and decomposed
23.Verify that it is not possible to copy and deletinaeline

24.Show that it is not possible to compose and decampdimeline

25. Show that the progress of our application cannatddeted or copied

26. Verify that the progress of our application canbpetcomposed and decomposed
27.Show that a node or a callout cannot be deletedpied

28. Verify that a node and a callout cannot be compeseddecomposed

29.Verify that an error cannot be deleted

30. Determine whether or not a problem can be deleted

31. Show that principles cannot be deleted
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32.Verify that a compensator cannot be deleted oreras

33. Show that a compensator cannot be copied

34.Show that principles cannot be copied

35. Show that principles cannot be composed and decsaapo

36. Determine that the Error Correction Function carbetleleted or erased
37.Show that the Error Correction Function cannot tyg@ed

38. Verify that the Error Correction Function cannotdoenposed and decomposed
39. Verify that an action cannot be deleted

40. Determine that an action cannot be copied

41.Verify that a reason cannot be deleted

42.Show that a reason cannot be copied

43.Show that a reason cannot be composed and decodnpose

44.Verify with a practical example that a communicatiwlder cannot be deleted and
copied

45. Show that a sentence cannot be deleted and copied
46. Show that communication cannot be deleted and dopie
47.Verify that information cannot be deleted

48. Show that it is not possible to copy information

49. Show that it is not possible to compose information

50. Determine that information cannot be decomposed
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51. Determine the relationship between the word entlity,sentence entity, and the
paragraph entity

52.Verify that a word and a sentence cannot be rotated
53.Determine that a reference cannot be deleted.
54.Show that a reference cannot be compose

55. Verify that a reference cannot be decompose

56.What is the difference between a written word deword itself? Written word means
a word on paper, board, postcard, etc.

57.Verify that information cannot be edited. If yoamt to, you may provide a practical
example.

58. Determine the difference between a single entityagroup of entity

59. Show that a reference cannot be edited

60. Show that a reference cannot be copied

61. Verify that the relationship entity cannot be detkt

62.Sow that the relationship entity cannot be rotated

63. Determine that the relationship entity cannot beied

64. Verify whether or not it is possible to combine pkowith communication function.

65. Determine whether or not it is possible to grouppgbe with application. This is the
same as saying that, determine whether or nopibssible to group the people with the
application entity.

66. Show that question cannot be deleted

67.Verify that a question cannot be copied

68. Show that a question cannot be composed and desathpo
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69. Verify that a question cannot be rotated

70. Show that the answer of a question cannot be dklete
71.Verify that the answer of a question cannot be epi

72.Show that the answer of a question cannot be compasd decomposed
73.Verify that the answer of a question cannot beteota

74.Verify that the answer of a question cannot beeeldit

75.Show that a question cannot be edited

76. Verify that the match label cannot be deleted

77.Show that the mach label cannot be copied

78.Verify that the point to label cannot be rotated

79.Show that the point to label cannot be copied

80. Show that the agreement label cannot be deleted

81. Verify that the agreement label cannot be copied

82. Show that the inclusion label cannot be deleted

83. Verify that the inclusion label cannot be copied

84.Verify that the relationship between two entitiesigot be deleted
85. Show that the relationship between two entitiesxoabe copied
86. Verify that the relationship between two entitienigot be edited

87.Verify that an entity cannot be composed. In tase, you verify your understanding
about building or deriving an entity.
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88.What does a project identification mean to youhls case you verify your
understanding about a project identification.
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